

04/29/2024 10:00 AM | Install Day 1 04/30/2024 10:00 AM | Install Day 2 05/04/2024 08:00 AM | Install Day 3 05/04/2024 04:00 PM | Event 05/06/2024 08:00 AM | Strike PO: Shipping Address: Private Home 21 Oakmont Drive, Los Angeles, CA 90077 Mindy Weiss 942 S. Detroit Street Los Angeles, CA 90036

Invoice Date:

Due Date: Upon Receipt

Salesperson: Angela Murelli

Description		Qtty	Price		Total
General					
			Total Gen	eral	\$0.00
Ceremony					
	Bars - Boston - Curved 8' Folding Base painted off white with the blue/grey border details Hand-painted floral details added to bottom right corner 8'W x 30"L x 44"H - Color Upon Request	1	\$850.00	T	\$850.00
	Fabric Wall Facade - Bathrooms Onsite building of frame and fabric to cover the bathroom pods	1	\$3,250.00	Т	\$3,250.00
	Console Tables - Florence 6'L Custom painted in blue/grey color 71"W X 16"L X 31"H - It can be painted with a whitewash finish	1	\$250.00	Т	\$250.00
	Wall Mirrors - Nice - Wall Mirror 03 30"W x 70"H	2	\$150.00	Т	\$300.00
			Total Cerem	ony	\$4,650.00
Cocktails					
	NEW: Box Valance Awning for Tent Entrance Blue tone on lighter blue tone Scallop border See inspo pic	2	\$4,500.00	Т	\$9,000.00
	Exterior Front Wall Drape & Pullbacks - Azure Blue Linen w. Base Detail	1	\$5,625.00	Т	\$5,625.00
	Perimeter Valance - Azure Blue Linen	1	\$650.00	Т	\$650.00
	Garden Sofas - Shakespeare Garden - Off White Frame with piping details for cushions 79"W x 33"L x 31â H	3	\$750.00	Т	\$2,250.00
	Coffee Tables - Montreal - Gold Leaf Rectangular 4'W x 2'L x 18"H	3	\$250.00	Т	\$750.00
	Shakespeare Garden Club Chair - Off White Frame with piping details for cushions	4	\$350.00	Т	\$1,400.00

Description		Qtty	Price		Total
	Accent Tables - Bucharest - Brass & Mirror 19.25"W x 16.5"D x 24.75"H	4	\$150.00	Т	\$600.00
	Accent Pillows	20	\$35.00	Т	\$700.00
	Ottomans - Standard Pod with piping details 18"RND x 17"H - Cover Color Upon Request	6	\$65.00	Т	\$390.00
	NEW: Floor Rug - Blue/Off White Tones - Price TBD 8 x 10	2	\$650.00	Т	\$1,300.00
			Total Cocktails		\$22,665.00
Reception					
	Interior Front Wall Drape & Pullbacks - Coppen Blue Chiffon for the front wall of 68' x 14'H	1	\$5,625.00	Т	\$5,625.00
	HVAC Wall Drape - Coppen Blue Chiffon 16'W x 14'H Solid pleated walls to camouflage the HVAC units from being seen inside the tent	4	\$1,250.00	Т	\$5,000.00
	Stage Wall Backdrop - Hand Painted Fabric 50' x 14'H Hand Painted fabric to minic the hummingbird tablecloth Base in the Coppen blue with white floral detailing	1	\$5,625.00	Т	\$5,625.00
	Perimeter Valance - Blue Linen	1	\$1,600.00	Т	\$1,600.00
	Hanging Lantern pendant - Hamptons XL - Gold 48" x 48" x 50"H 48"W x 50"H - 50lb - 300 Watts - Custom Color Upon Request	3	\$650.00	Т	\$1,950.00
	SUBRENTAL: Gold Hexagon Lantern Pendant 20" x 20" x 29"H	6	\$500.00	Т	\$3,000.00
	NEW: Rectangle Gold Lantern Chandelier 15"D x 49"W x 23"H	6	\$675.00	Т	\$4,050.00
	NEW: Large Gold Lantern Pendant 24"x. 24" x 34"H	6	\$450.00	T	\$2,700.00
	NEW: Small Gold Lantern Pendant 10" x 10" x 14"H	6	\$300.00	Т	\$1,800.00
A	Dining Chairs - Bali - Wood & Cane Back 17 1/2â\ k 16 1/2â\ k 35â\ H	254	\$25.00	Т	\$6,350.00
	Custom Stage Front 24'W x 26"H custom rattan inserts with shape matching to the barback Color TBD	1	\$3,400.00	Т	\$3,400.00
	NEW: Alcove Barback 12'W x 10'H Curved front as in rendering Wallpaper print and Rattan details	2	\$11,500.00	Т	\$23,000.00

Description		Qtty	Price		Total
	New York Bar 12'L (Folding) with Custom Fronts Frame color in blue/grey tone 12'W x 31"L x 42"H - Custom Color Upon Request	2	\$1,150.00	Т	\$2,300.00
	NEW Bar Fronts and Sides 3D Imagery base painted TBD with a few hand painted colored details	2	\$21,795.00	Т	\$43,590.00
	Dance Floor 28' x 24' - Quatrefoil Pattern - Tone on Tone blue with light grey/blue	1	\$6,500.00	Т	\$6,500.00
			Total Recept	ion	\$116,490.00
Restroom Traile	rs				
	Exterior Perimeter Tent Drape - Off White Gauze for a 20x30 Tent	1	\$2,750.00	Т	\$2,750.00
	Exterior Tent Cap - Off White Scuba for a 20x30 Tent	1	\$3,000.00	Т	\$3,000.00
	Interior Perimeter Tent Drape - Off White Gauze for a 20x30 Tent	1	\$2,750.00	Т	\$2,750.00
	Interior Ceiling Tent Drape - Off White Gauze for a 20x30 Tent	1	\$3,000.00	Т	\$3,000.00
	Perimeter Valance (Interior + Exterior) - Off White Linen for a 20x30 Tent	1	\$1,200.00	Т	\$1,200.00
	SUBRENTAL: Gold Taper Lanter Pendant	3	\$500.00	Т	\$1,500.00
	Fabric Wall Facade - Bathrooms Onsite building of frame and fabric to cover the bathroom pods	1	\$3,250.00	Т	\$3,250.00
	Console Tables - Florence 6'L Custom painted in blue/grey color 71"W X 16"L X 31"H - It can be painted with a whitewash finish	1	\$250.00	Т	\$250.00
	Wall Mirrors - Nice - Wall Mirror 03 30"W x 70"H	2	\$150.00	Т	\$300.00
		Tot	al Restroom Trail	\$18,000.00	
After Party - Ent	ry Area				
	Custom Cushion for Built in Bench Off White Linen	1	\$350.00	Т	\$350.00
6 x31 x32"	Benches - Modular Benches w. Backrest 6'L	2	\$450.00	Т	\$900.00
	New York Bar 4'L - Flat Front - Milkshakes painted off white with Hand Painted details of 'Rydell' Theme 30"W x 4'L x 42"H - Color Upon Request	1	\$750.00	Т	\$750.00

Description		Qtty	Price		Total
	Barback - Napa - Wood for trophy display 35"W x 12"L x 70âll lih	2	\$200.00	Т	\$400.00
	Accent Pillows - Assorted	14	\$45.00	Т	\$630.00
		Total Aft	er Party - Entry A	rea	\$3,030.00
After Party - Bar	Room				
	Perimeter Drape - Navy Chiffon For (3) sides of the room with pullbacks for the main window facing the garden	1	\$2,850.00	T	\$2,850.00
	Perimeter Valance - Navy BLue	1	\$350.00	Т	\$350.00
6 x31 x32*	Benches - Modular Benches w. Backrest 6'L 6' x 30" D x 18" H	3	\$450.00	Т	\$1,350.00
	Accent Table - Las Vegas - Mirror Faced Square	5	\$85.00	T	\$425.00
	Bars - Montecito Folding Bar 8'L - Off White painted Stripes with Hand Painted details of 'Rydell' Theme 8'W x 2'5"L x 3'3"H - Color Upon Request	1	\$950.00	T	\$950.00
	NEW Custom Barback Table - Off White to cover the weight rack Built 8'6" x 30"W x 40"H	1	\$650.00	Т	\$650.00
	Accent Pillows - Assorted	12	\$45.00	Т	\$540.00
		Total Aft	er Party - Bar Ro	om	\$7,115.00
After Party - Dai	nce Room				
	NEW Lockers - Double tier TBD Color	2	\$1,250.00	Т	\$2,500.00
	NEW: Silver Mylar Drape 18'H x 100'W for the perimeter to be attached to the truss	1	\$16,000.00	Т	\$16,000.00
	Truss Covers - Silver Liquid Lame Material	1	\$3,500.00	Т	\$3,500.00
	NEW 'Disco Ball' DJ Booth Costs estimated	1	\$14,575.00	Т	\$14,575.00
	Props - Misc - Inflatable 6' D Silver Spheres	8	\$725.00	Т	\$5,800.00
	Props - Misc - Inflatable 3' D Silver Spheres 36" Diam	20	\$550.00	T	\$11,000.00
	Ottomans - Palm Springs - Tufted Blush 3'W x 23"L x 18"H - Mix n' Match with Palm Spring Collection	4	\$200.00	T	\$800.00

Description		Qtty	Price	Total
	Accent Table - Las Vegas - Round Mirrored 20"Diam x 20"H	3	\$85.00 T	\$255.00
	NEW Floor Pillow - Blush Tufted	6	\$65.00 T	\$390.00
	Accent Pillows - Assorted	20	\$45.00 T	\$900.00
		Total After Party - Dance Room		\$55,720.00
Services				
	Installers: Install Monday April 29th	8	\$550.00	\$4,400.00
	Installers: Install Tuesday April 30th	12	\$550.00	\$6,600.00
	Installers: Touch Ups Saturday May 4th	12	\$500.00	\$6,000.00
	Installers: Strike Monday May 6th	12	\$550.00	\$6,600.00
	Trucking: 24'L Box Truck (Rental)	5	\$750.00 T	\$3,750.00
	Trucking: Fuel Surcharge	5	\$65.00 T	\$325.00
	Manager: Onsite	1	\$2,400.00	\$2,400.00
	Manager: Design and Layouts	1	\$1,650.00	\$1,650.00
	Supplies: Onsite	1	\$1,600.00	\$1,600.00
	Prop Builders: Production Costs Cost TBD	1	\$8,000.00	\$8,000.00
	New Product: Rush Shipping & Assembly	1	\$3,000.00	\$3,000.00
	Subrental: Pick up and Return	1	\$950.00	\$950.00
	Dance Floor: Labor & Delivery	1	\$850.00	\$850.00
	Custom Artwork: Hand Painted Details	1	\$4,500.00	\$4,500.00
	Custom Artwork: Printed Decal Materials & Labor	1	\$5,000.00	\$5,000.00
	Custom Artwork: Graphic Drawings	1	\$1,250.00	\$1,250.00
	Certificates: Flame Proofing	1	\$950.00	\$950.00
Diago maka ah	aaka nayahla ta Dayalmi Ina		Total Products:	\$227,670.00
Please make checks payable to Revelry, Inc.		Total La	abor/Services/Misc:	\$57,825.00
	Note: Prior to deliveries and pick-ups all invoices must be pay in full Please ready the contract and sign it		Vear & Tear (6.00%):	\$13,660.20
Notes		_	Packing (3.00%):	\$6,830.10
110100		1	Taxes (tax excempt): Discounts:	\$0.00 (\$0.00)
			Discounts: Total:	(\$0.00) \$305,985.30
				, , , , , , , , , , , ,

Balance: \$305,985.30